
Roof bar kit Expert/Jumpy/ProAce 16/Vivaro 19- L1-L3, 2 bars

4 x R62832 x 732124 x 62884

8 x M88 x M8x16

RR030025000

4 x R63764 x M6x25 4 x 62923

M6x25

12Nm

3

M8x16

M8

20Nm

7.9 kg Max.

i

Max.
5.3 kg=

16 x R6146112 x R6289

1

2

R9005


	RR030025000 Jumpy 2bars

